mn[“'r Structured Ground Enclosure Grounding Kit

(© Panduit Corp. 2015 INSTALLATION INSTRUCTIONS T-PMPI-280-PC

) 1
Grounding Bracket
3 Ibf-ft
; ESD Wrist Strap Plug (4 Nem)
(Not included)

Grounding Washer

\ W\ ) 1

#10-24 Hex Nut

Y’
6 — 8 Ibf-ft
@ (8- 11 Nem)
;

7

#10 Split Washer

| N
To:
b e Equipment
® Mesh Common
Bonding Network
e Door Ground

#12-24 Screw (jumpers not included)

1 /% o

1 L #12-24 (M6) or smaller grounding stud

(#10-24 and #10-32 nuts included)

#10-32 Hex Nut

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 1 of 2 Rev 01



(© Panduit Corp. 2015 INSTALLATION INSTRUCTIONS T-PMPI-280-PC

Example Installation using PanZone PZAEWM3 Active Wall Mount Enclosure (shown with door removed)

Mounting
for Active
Equipment

DRARRRAARARARRRARR
DRRRRRRRRARARRRRRRRRD

Grounding
Stud

Grounding \
Bracket

hS e Equipment L,
. ® Mesh Common "
N Bonding Network e

S el ® Door Ground e
~~~<.__ (jumpers not included) e

- -
Se = -
e e e e e e ———————

For Instructions in Local Languages E-mall;
. cs@panduit.com
and Technical Support:
Phone:

www.panduit.com/resources/install_maintain.asp www.panduit.com 800-777-3300

Page 2 of 2

Rev 01




	Sheet3
	Sheet4

